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Ss-1 Ss-2 Ss-3
3-1
p
0.P. G E Vs Vp h
Vs Y Go G/Gy 5 2 50\ /2
m ><10°kN/m ><10°kN/ (n/s) (n/s) (%)
(m /sy [ (kN/m®) | V[ (< 10°kN/m) (¢ ) (¢ )
Ss-1| Ss-2 | Ss-3| Ss-1| Ss-2 | Ss-3 | Ss-1 | Ss-2 | Ss-3 | Ss-1 | Ss-2 | Ss-3 | Ss-1 | Ss-2 | Ss-3 | Ss-1 | Ss-2 | Ss-3
12.0
9.0 192 0.67 0.39|0.37|0.43| 1.05 | 0.98 | 1.15 | 148 | 143 | 155
6.0 236 1.00 0.59|0.55|0.65| 1.57 | 1.46 | 1.73 | 181 | 175 | 190
T 17.7 [0.33 0.59| 0.55| 0.65 8 9 7
3.0 259 1.21 0.71]0.67|0.79] 1.90 | 1.77 | 2.09 | 199 | 192 | 209
0.0 275 1.36 0.80|0.75|0.88] 2.13 | 1.99 | 2.35 | 211 | 204 | 221
390 16.3 | 0.46 2.53 2.00|2.02|2.00| 5.84 | 5.91 | 5.84 | 347 | 349 | 347
-6.5_|
452 16.7 | 0.46 3.47 0.7910.80|0.79|2.742.78 | 2.74] 8.00 | 8.11 | 8.00 | 401 | 404 | 401 | 1474 | 1483 | 1474| 4 4 4
-49.3_|
528 17.2 | 0.45 4.88 3.86|3.90|3.86|11.18 | 11.32| 11.18| 469 | 472 | 469 | 1555 | 1565 | 1555
-114.3
612 17.3 [0.44 6.61 0.80|0.80|0.75]5.29|5.29| 4.96( 15.23 | 15.23 | 14.28 | 547 | 547 | 530 | 1673 | 1673 | 1620| 4 4 4
-168.0
L 714 17.4 | 0.42 9.05 1.00| 1.00| 1.00| 9.05|9.05| 9.05| 25.70 | 25.70 | 25.70 | 714 | 714 | 714 | 1923 | 1923 | 1923
i
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2
W_(kN) I, (><10°kN m?) A (M) (%
1 37,142 12.54
51.0 40,200
2 33,222 13.23
48.0 37,300
3 146,216 40.57
198.0 78,800
4 282,926 63.50
224.0 122,900
5 215,012 84 .97
292.0 157,100
6 205,604 90.45
332.0 185,200
7 391,804 186.79
497.0 363,100
8 311,738 167.38
583.0 469,700
9 318,304 169.54
583.0 469,700
10 718,898 360.14
6,272.0 3,237,400
11 489,246 252 .95
3,150,112 Ee 2.81><10: kN/mi
G 1.17=<10° KN/m
v 0.20
h 5%
79.7m(NS )>=<78.7m(EW )

4-1
2
W (kN) I, (><10°%kN m?) A () 1 (m
1 37,142 12.15
49.0 40,800
2 33,222 13.43
45.0 42,300
3 146,216 28.71
162.0 61,900
4 282,926 38.51
227.0 114,300
5 215,012 54.88
294.0 150,500
6 205,604 53.02
364.0 174,000
7 391,804 157.49
492.0 362,500
8 311,738 190.61
587.0 470,400
9 318,304 209.43
582.0 470,400
10 718,898 385.73
6,272.0 3,320,200
1 489,246 259.41
3,150,112 Ec 2.81><10: kN/mj
G 1.17><10" KN/
v 0.20
h 5%
79.7m(NS  )><78.7m(EW
L
{} HERND
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4-3

79.7m(NS ) ><78.7m(EW

)

W (kN) A (%) K, (><10°%kN/m) W okN) | A, (><107m%) 1 (")
1 27,280 1
110.7 2.70 16.20 3.715
2 33,222 12 4,928
122.8 4.31 11.60 3.715
3 146,216 13 3,750
399.9 10.50 9.40 3.715
4 282,926 14 1,184
474.9 16.68
5 215,012
642.9 24.09 Ec 2.81%<10" kN/m’
6 205,604 G 1.17%<10" KN/m?
735.1 32.79 v 0.20
7 391,804 h %
1064.3 51.56
8 311,738 Es 2.05%<10°% KN/m?
1188.5 53.87 G 7.90><10" KkN/m?
9 318,304 v 0.30
1194.2 55.93 h M
10 718,898
6272.4 271.16
11 489,246
3,1%0,112 Ko 7.3010" KN n/rad

E HRERND
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4-7 Ss-1H
NS
1) (*2) (*3)
Ke (Hz) Ce f, (H2)

K1 8 4.68>=10° 0.56 3.29%=10° 2.11
K2 8 7.19%<10° 0.01 2.13=<10° 2.11
K3 9 1.62>10° 0.71 8.87>10° 2.11
K4 9 2.48x10° 0.01 5.64>10° 2.1
K5 10 3.80x<10° 0.67 1.51=10° 2.11
K6 10 5.59%10° 0.01 7.82>10° 2.11
K7 11 2.82x<10° 0.65 1.03><10° 2.1
K8 11 4.08><10° 0.01 4.75><10° 2.11
K9 11 7.53>=10 0.00 4.67><10° 2.11
K10 11 1.4710" 0.00 2.94%10° 2.11

(*1) K1,K3,K5,K7,K9 kN/m  K2,K4,K6,K8,K10 kN m/rad

(*2) K1,K3,K5,K7,K9 kN s/m  K2,K4,K6,K8,K10 kN s m/rad

3 f 1

EW
1) (*2) (*3)
Ke (Hz) C T, (Hz)

K1 8 4.68><10° 0.56 3.29>=<10° 2.11
K2 8 7.19><10° 0.01 2.13%<10° 2.11
K3 9 1.62>10° 0.71 8.87>=10° 2.1
K4 9 2.48%<10° 0.01 5.64>10° 2.1
K5 10 3.80><10° 0.67 1.51>=10° 2.11
K6 10 5.59><10° 0.01 7.82>10° 2.11
K7 11 2.82><10° 0.65 1.03>=10° 2.11
K8 11 4.08>=<10° 0.01 4.75%10° 2.11
K9 11 7.54%<10 0.00 4.68><10° 2.11
K10 11 1.45>10" 0.00 2.85>10° 2.1

(*1) K1,K3,K5,K7,K9 kN/m  K2,K4,K6,K8,K10 kN m/rad

(*2) K1,K3,K5,K7,K9 KN s/m
(GORH 1

K2 ,K4 ,K6,K8,K10 kN s m/rad

E HRERND
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E HRERND

4-8 Ss-
NS
1) (*2) (*3)
K (Hz) Ce f, (H2)
K1 8 4.37=<10° 0.54 3.18x<10° 2.12
K2 8 6.71><10° 0.01 2.06>=10° 2.12
K3 9 1.51%10° 0.69 8.56>10° 2.12
K4 9 2.31<10° 0.01 5.46>10° 2.12
K5 10 3.77<10° 0.67 1.50>=10° 2.12
K6 10 5.54>10° 0.01 7.75>10° 2.12
K7 11 2.85%10° 0.65 1.03><10° 2.12
K8 11 4.13%<10° 0.01 4.78><10° 2.12
K9 11 7.64>10" 0.00 4.70><10° 2.12
K10 11 1.49%<10" 0.00 2.95%10° 2.12
(*1) K1,K3,K5,K7,K9 KkN/m  K2,K4,K6,K8,K10 kN m/rad
(*2) K1,K3,K5,K7,Kk9 kN s/m  K2,K4,K6,K8,K10 kN s m/rad
3 f 1
EW
*1) (*2) (*3)
Ko (Hz2) Ce f, (Hz)
K1 8 4.37%<10° 0.54 3.18>10° 2.12
K2 8 6.71>10° 0.01 2.06><10° 2.12
K3 9 1.51x10° 0.69 8.56>10° 2.12
K4 9 2.31<10° 0.01 5.46>10° 2.12
K5 10 3.77>=10° 0.67 1.50>10° 2.12
K6 10 5.54>10° 0.01 7.75=10° 2.12
K7 11 2.85>10° 0.65 1.03>=10° 2.12
K8 11 4.13%<10° 0.01 4.78><10° 2.12
K9 11 7.65%10 0.00 4.71>10° 2.12
K10 11 1.47>10" 0.00 2.87>10° 2.12
(*1) K1,K3,K5,K7,K9 KkN/m  K2,K4,K6,K8,K10 kN m/rad

(*2) K1,K3,K5,K7,K9 KN s/m

3

1

K2,K4,K6,K8,K10 kN s m/rad

24




4-9 Ss-
NS
1) (*2) (*3)
Ke (Hz) C f, (Hz)

K1 8 5.14x<10° 0.58 3.45%<10° 2.12
K2 8 7.88x<10° 0.01 2.22>=10° 2.12
K3 9 1.78>10° 0.75 9.3210° 2.12
K4 9 2.74%10° 0.01 5.91>10° 2.12
K5 10 3.90x<10° 0.67 1.54>=10° 2.12
K6 10 5.74>10° 0.01 7.96>10° 2.12
K7 11 2.82x<10° 0.65 1.03><10° 2.12
K8 11 4.08><10° 0.01 4.75><10° 2.12
K9 11 7.53=<10’ 0.00 4.67>10° 2.12
K10 11 1.47>10" 0.00 2.95>10’ 2.12

(*1) K1,K3,K5,K7,K9 kN/m  K2,K4,K6,K8,K10 kN m/rad

(*2) K1,K3,K5,K7,K9 kN s/m  K2,K4,K6,K8,K10 kN s m/rad

*3) f, 1

EW
1) (*2) (*3)
Ke (Hz) C T, (Hz)

K1 8 5.14><10° 0.58 3.45%10° 2.11
K2 8 7.88><10° 0.01 2.22%10° 2.11
K3 9 1.78%<10° 0.75 9.3210° 2.1
K4 9 2.74%<10° 0.01 5.91=10° 2.1
K5 10 3.90>=10° 0.67 1.54>10° 2.11
K6 10 5.74%=<10° 0.01 7.95>10° 2.11
K7 11 2.82><10° 0.65 1.03>=10° 2.11
K8 11 4.08>=<10° 0.01 4.75%10° 2.11
K9 11 7.54%<10 0.00 4.68><10° 2.11
K10 11 1.45>10" 0.00 2.85%10° 2.1

(*1) K1,K3,K5,K7,K9 KN/m
(*2) K1,K3,K5,K7,K9 KN s/m
(GORH 1

K2,K4,K6,K8,K10

kN m/rad

K2 ,K4 ,K6,K8,K10 kN s m/rad

E HRERND
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E HRERND

4-10 Ss-1V
*1
Kc(kN/m) (H2) Cc(kN s/m) (H2)
K1 11 1.37><108 0.00 1.16><10' 3.27
4-11 Ss-2V
*1
Kc(kN/m) (H2) Cc(kN s/m) (H2)
K1 11 1.39><108 0.00 1.16><10' 3.28
4-12 Ss-3V
*1
Kc(kN/m) (H2) Cc(kN s/m) (H2)
K1l 11 1.37><108 0.00 1.16><10’ 3.27

26
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23.5N/mm?2 240kgf/cm?

2.06><104 N/mm?
0.167

40.0N/mm?2

2.81><104 N/mm?
0.2
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0.P.(m) 0.P.(m) 0.P.(m)

70.00 70.00 70.00

58.50 58.50 58.50

50.50 50.50 50.50

1:0.473 s 39.80 2:0.233 s 39.80 ,=0.109 s 39.80

B,=1.725 B,=-0.828 (3,=0.037

31.80 31.80 31.80

24.30 24.30 24.30

18.00 18.00 18.00

12.20 12.20 12.20

6.00 6.00 6.00

‘ 0.00 ‘ 0.00 ‘ 0.00

-6.50 -6.50 -6.50

-1 NS Ss-1H
NS Ss-1H
1 2
NS Ss-1H < < 2 <
2F4
5.0% 12.8% 0.6% 5.0% 15.5% 0.8% 5.0% 81.3% 4.1%
) (Hz) P12, 89.8% 0.6% 0.6%) 94.9% 0.1% 0.1%) 97.6% 0.0% 0.0%
0 0.p.12.2 77.7% 0.2% 0.1%) 88.3% 0.3% 0.2%) 94.3% 0.1% 0.1%
1 0.473 2.11 1.725 30.03 0.P. 6.0 87.2% 1.7% 1.5% 93.5% 0.4% 0.3% 96.9% 0.0% 0.0%
> 0.233 729 0828 7.1 o 72.2% 0.5% 0.4%) 85.0% 0.8% 0.7%  92.6% 0.3% 0.3%
- . - - 0.P. 0.0 82.8% 3.2% 2.6% 91.1% 1.3% 1.2%]  95.7% 0.0% 0.0%
3 0.109 9.15 0.037 13.25 o 59.7% 1.0% 0.6%) 76.9% 1.6% 1.2% 88.3% 0.7% 0.6%
0.P.-6.5 81.5% 1.9% 1.5%|  90.4% 1.3% 1.2%|  95.4% 0.0% 0.0%
o 54.4% 0.7% 0.4%| 73.1% 1.2% 0.8%| 86.2% 0.5% 0.4%
0.P.-6.5 35.8%| 50.7% 18.2%| 56.7%| 35.9%| 20.4%| 75.8% 0.1% 0.1%
o 13.0%| 26.6% 3.5%| 25.2%| 41.7% 10.5%| 45.6% 17.1% 7.8%
(¢ )} 30.0% 37.4% 13.3%
¢) m=mh
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